
����

����������	
����� �

��������( )
≥�� �

��������	
���
������	�����W( )=

=

−
=

+
∑
�

�

� �

�
� �

�
�

�
�

��� �

����������=
�� �

� و�����
+

=
� �� �

� ��� �
�1�E�� J������

�
و���

�
��� �

������� Jن������( )∀ ∈ <ℕ
� �

� � ���� �

�2��E����	�� ن�א����( )� )")א�'&��و��د#س�#"	���א ��	�������� )� ���� �

�3��E����	�� א+�*�(�אن�א( )
> �� �

�,'ود&�� �
� �

�
�������	
����� �
����������������
دא����� +∞ �����-.ℝ���/01�2و�א���W�� �

( ) ( ) ( ) ( ) ( )+ +∀ ∈ ∀ ∈ = +ℝ ℝ
� �� � � �� � � � �� �

��1��Eد�'�( )������� �

��2��E45ض��ن��������ق��7א�*60	:0�9�����	و��ن����;( ) =� � �������K� �

;	�����:0�9	ق�<�=����������ن���� +∞ ����0�? א�	و�'د�دא��@( )�� ��� �
� �

����
����	
����� �
�������	�����A
���ن����و��������BC-����0�0אد��'>�+ + ≥� � � �	 
 � 	
�� �

 

 الأولى علوم رياضية 2فرض  14�2015

��������	
����� �

	������������Dא�'א���א��'د��������
)�Wא � ) = + − − +�� � �� � � � ��� �

�1��E�� Jد���'��
 
��Eא�'א���� �"��>-FG��� �
������ J������	@*א������( )

→+∞
	
�
�

� �����H��*���	�+'*I�:و�	"�J>و��� �

�2��E�� J������	@*א�������( )
→− ∞
	
�
�

� ��� �

������� J���=*K*F����L	@�:ع�א�
)�د#س�א�5 )����'*>  −∞  � �

�3��E�� Jن��������( ) ( ) −
∀ ∈ = −

− +
ℝ

�

�
� �

� �

�
� � �

� �
�� �

������� J����ن�א�'א����� و��C�(R'ول�"OPא�Nא�'א�����ℝ")א�'���;�6	�<�=�����  � �
�4��E�=*K*F���S�*א���T-د#س�א��( )��  ��U�0�� و�א ( )� =� �  � �

�5��E�=*K* א�U+#� ( )��� �

�6��E���א��'د�����	א ���D���( )� ��������	
���
=��Wא �
�
)و������ )+

=
�� �

� � ��� �

����� Jن��������( )∀ ∈ < <ℕ � �
�

� ��� �

���� J������	�� א���	د#س�#"�( )� )و�א+�*�(��ن����� )∀ ∈ ≤ <ℕ � �
�

� �� �

�7����E�� Jن��������( ) +
∀ ∈ − ≤ −ℕ

�

�
� �
�� �

� � ���F�WXY�>� �����E� �

���������� Jن�������C4�	����( )  
∀ ∈ − ≤  

 
ℕ

�
�

�

�

�
� � 

�ج������� J�����
= −

=

= ∑
�

�

� � �

� �
�

� �
�

������K^�<'د�[��O\����B*�'م�� �

���ن����������( ) −
∀ ≥ − + ≤ ≤

× �

� �
� � �

�

�

��
� �

� �
�  

��

 






